M

Homework 3.1

Tomework 3.1

a)
$$\overrightarrow{a_1} = \begin{pmatrix} a \\ 0 \\ 0 \end{pmatrix}$$
, $\overrightarrow{a_2} = \begin{pmatrix} a_1 z \\ a_2 p_1 z \end{pmatrix}$, $\overrightarrow{a_3} = \begin{pmatrix} 0 \\ 0 \\ 0 \end{pmatrix}$

- primitive cult volume

$$\overrightarrow{a_1} \cdot (\overrightarrow{a_1} \times \overrightarrow{a_3}) = \begin{vmatrix} a & 0 & 0 \\ 4z & aB_1 p_2 \\ 0 & 0 & c \end{vmatrix} = \frac{1}{2} \overrightarrow{a_2} c$$

$$\overrightarrow{b_1} = \frac{4\pi}{B} \overrightarrow{a_2} c \begin{vmatrix} a & a & 0 \\ a & a & b \\ 0 & 0 & c \end{vmatrix} = \frac{4\pi}{\sqrt{3}} \overrightarrow{a_2} c \begin{pmatrix} \frac{1}{2} a c \times -\frac{1}{2} a c \hat{y} \end{pmatrix}$$

$$= \frac{2\pi}{a} \begin{pmatrix} -\frac{1}{2} g_1 \\ -\frac{1}{2} g_2 \end{pmatrix}$$

$$\overrightarrow{b_1} = \frac{4\pi}{B} \begin{vmatrix} a & a & 0 \\ a & 0 & 0 \end{vmatrix} = \frac{4\pi}{\sqrt{3}} (a + c) \begin{vmatrix} a & c & c \\ a & c & c \end{vmatrix} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_2 \end{vmatrix}$$

$$\overrightarrow{b_1} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_1} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix}$$

$$\overrightarrow{b_1} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\ -\frac{2}{2} g_3 \end{pmatrix} \xrightarrow{b_1 + b_2} = \frac{2\pi}{a} \begin{pmatrix} \frac{2}{2} g_3 \\$$

$$5) \qquad 5asis \qquad \begin{pmatrix} 0 \\ 6 \\ 0 \end{pmatrix} \qquad \begin{pmatrix} a/2 \\ a/2 + 3 \end{pmatrix}$$

$$\begin{aligned}
\overline{T}(\vec{q}) &= \left| \sum_{\delta} e^{i\vec{q} \cdot \vec{V_j}} \right|^{2} \\
&= \left| 1 + e^{i\left(n_{1} \cdot \vec{S_{1}} + n_{2} \cdot \vec{S_{2}} + n_{3} \cdot \vec{S_{3}}\right) \cdot \left(a|z_{1} \cdot a|z|S_{1}, c|z_{1}\right)} \right|^{2} \\
&= \left| 1 + e^{i\left(\frac{a_{1}}{a} - \frac{a_{1}}{6}\right) + \frac{2\pi}{a} n_{2} \cdot \frac{a_{3}}{3}} + \frac{2\pi}{a} n_{3} \cdot \frac{2}{3}} \right|^{2} \\
&= \left| 1 + e^{i\left(\frac{1}{3}(n_{1} + n_{2}) + \frac{1}{2}n_{3}\right)} \right|^{2} \\
&= \left| 1 + e^{i\left(\frac{1}{3}(n_{1} + n_{2}) + \frac{1}{2}n_{3}\right)} \right|^{2}
\end{aligned}$$

extinction when
$$\frac{1}{3}(h_1+h_2)+\frac{1}{2}h_3 \quad \text{is} \quad \left(\text{integr}+\frac{1}{2}\right)$$

$$\text{e.g.} \quad h_1+h_2 \quad \text{matiph} \quad \text{of} \quad 3, \quad h_3 \quad \text{odd}$$

3.2 Debye-Walles Jackst

$$\langle S(\vec{q}) \rangle = \langle \frac{1}{N} | \frac{1}{2} e^{-i\vec{q}\cdot(\vec{R}_{\ell}+\vec{u}_{\ell})} |^{2} \rangle$$

$$= \langle \frac{1}{N} \sum_{e_{j}} e^{-i\vec{q}\cdot(\vec{R}_{\ell}+\vec{u}_{\ell})} e^{-i\vec{q}\cdot(\vec{R}_{j}+\vec{u}_{j})} \rangle$$

$$= \frac{1}{N} \sum_{e_{j}} e^{-i\vec{q}\cdot(\vec{R}_{\ell}-\vec{R}_{j})} \langle e^{-i\vec{q}\cdot(\vec{R}_{\ell}-\vec{u}_{j})} \rangle$$

Now deal with the average

for l +j

$$\langle e^{i\vec{q}\cdot(\vec{u}_{\ell}-\vec{u}_{j})}\rangle = \left(\frac{1}{2\pi\Delta^{2}}\right)^{3} \int du_{\ell} du_{j} e^{-(u_{\ell}^{1}+u_{j}^{2})/2\Delta^{2}} e^{i\vec{q}\cdot(\vec{u}_{\ell}-\vec{u}_{j}^{2})}$$

$$= \left(\frac{1}{2\pi\Delta^{2}}\right)^{3/2} \int du_{\ell} e^{-\frac{u_{\ell}^{1}}{2\Delta^{2}}} e^{i\vec{q}\cdot\vec{u}_{\ell}} \int du_{j} e^{-\frac{u_{j}^{1}}{2\Delta^{2}}} e^{i\vec{q}\cdot\vec{u}_{j}^{2}}$$

Complete the square in the exponents

$$\langle e^{i\vec{j}\cdot(\vec{n_i}-\vec{n_j})}\rangle = e^{-\frac{3^2}{2}q^2} e^{-\frac{y^2}{2}q^2} = e^{-3^2q^2}$$

$$(S(\bar{q}^2)) = S(\bar{q}) e^{-3\bar{q}^2} (+ const. (from $\bar{q}=1))$
ideal case Deby-Walle factor
peaks still sharp$$